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MATH 8 - Unit 4 Quiz

Multiple Choice (2 points each)
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1. Which object is NOT a pyramid?

a. Object A

c. Object C d. Object D
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[D 2. Which diagram CANNOT be folded to make a cube? - =

SEREEE n 5T,
-+
. = -
Nets ae 0;):7
&t Q0

e (c ;
-S’/mlve, a!j J n::e ft; {mf'oé

cu»ﬂen all ‘ML age. /?%faré

C 3. What shapes do you need to make a triangular prism?
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A 4. Name the polyhedron that can be made from this net,
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a.__Rectangular pyramid ¢.  Rectangular prism
(b. Triangular prism ™.,
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d. Triangular pyramid

6. Name the polyhedron that can be made from this net. //\(\
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7. How many triangular faces are there in a hexagonal prism?
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@ 8. How many triangular faces are there in a pentagonal E_vramid'? )

a |1 c. 2 d 3
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B 9. The arca of onc face of a cube is 25 cm”. What is the surface arca of the cube?

a. 100em’ b. lS()cmi} ¢. 30cm’ d. 125em’
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£ 10. Draw the object that has this net.
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£ 11. This is the net of a right rectangular prism. The arca of cach face. in square centimetres. is given.

What is the surface area of the prism?
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E 12. Calculate the arca of this net of a right triangular prism.
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A 14 TFind the surface area of this cylinder to the nearest square metre.
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B 15. Find the surface arca of this cylinder. Leave n in your answer.
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SHORT ANSWERS (3 Points Each)

16. A circle has diameter 17 cm. Find the circumference to the nearest centimetre.,
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17. The diagram shows part of the net of a hexagonal prism. How many shapes are missing? What arc
they?
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18. The base of this right triangular prism is an cquilateral triangle. NoTice €
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19. Identifv the object that can be made from each net.
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Problems (S points each)
PLEASE MAKE SURE YOU SHOW ALL YOUR WORK ON THE ANSWER SHEET.

20. This diagram is-a net of a cube. Once the cube is made. which letters face cach other (on opposite side)
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21. The diagrams shows the dimensions. in centimetres. of three right rectangular prisms.
Which pnsmhas_\_mc greatest surface arca? Show vour work.
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22. This rectangular prism is divided into 2 equal halves by a line drawn along the diagonal.
Each half is in the shape of a right triangular prism and will be painted in a different colour.
Find the surface area covered by each colour paint. Explain your answer.
HINT: Find the surface area of 1 figure (which is identical to the other), BUT, DO NOT include the
rectangular faces that do not get painted.
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